
 

We can rewrite the PDE that characterized

our central potential eigenvalue problem
by defining the LZ operator in positronspace
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This is still a 3D PDE that appears
quite complex in general it is We

can make headway by considering
a particular kind of solution
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We can proposethis form of the solution
and see what happens Note R is a function
of r only and Y a functionof 0,01 only
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After plugging in we divide by 4
I Become regularderivatives
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The separation of variables game is to produce

functions of the separatedvariables ie r and 0,4

Multiply by r throughout
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fractionof
function of r only 0,10 only



Keypoint this equality hold regardless

of For 0 10 so both sides must
be equal to a constant Call it A
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We will deal w egh 2 later because weneed

a particular Vcr But Eg 1 doesn't

require aVcr so let's explore it
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Let's tryto separatevariables L4lme7 lldtDh4lme7

again
that we expect ALUH
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Divide by 41001
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Set equal to constant B
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